Unit 2 Study Guide Part 2
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1) Determine the dilation scale factor. 2) Find the missing side x.
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Determine if each set of triangles are similar by AA~, SAS~
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or SSS~. Otherwise, write Not Possible.
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7) If DE = 3x - 1% and AC = 30, find x. 8) Find the length of X.
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9) The triangles are similar. Find the missing side. 10) ANML~ANUT. Find the missing side.
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11) Write an example of a scale factor that would 12 Write an example of
create this transformation if the area of a triangle ) rea ple of a scale factor that would

gets ‘ e this transformation if the area of a triangle
a) Smaller after the dilation » 245 = p( o
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13) At a certain time of day, a 12 meter flagpole
casts an 8m shadow. How long is the tree's
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15) On level ground, the base of a tree is 30 ft from the
bottom of a 33-ft flagpole. The tree is shorter than
the pole. At a certain time, their shadows end at

the same point 71 ft from the base of the flagpole.
How tall is the tree?

1) 10 tree canty a 24 0ot shadow at the same tine
Uhat a vandstiok casts a 2 oot shaduw, il the
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the bisector of ZASC What do you know?
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For all by-hand constructions use a compass and
straightedge. DO NOT erase your construction marks.

to circle O from point .~ 36) Constructa squarei\rl_scribgd-in acircle.
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37) Bisect the angle.




